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TIME ALLOWED: ZlﬂHnura. % - | 210 =
MAXIMUM MARKS: 60 f  SUBJECTIVE .0 60 =4S
| NOTE: erhr & me question numher and ifs yarts surther on angwer book, as ghven [n the question paper, bk g p e 1o gl A2 i gliilim oo i

B SECTION-L Jno
- Attenupt any six parts, i 12=2x6 | _#"f‘p;!‘mleg.df 22801 |
! “iolve by factonzaimn x --133:=‘52 ¥7 _.11_[_]:2_5 FOA i »n

01) | Define reciprocal equation. ' . ey Ity S | (1)

(ili) | Write the quadratic equation in standard farm. J;_E_LN D S I

it R ol TR x=2
lx=2 & g . = » . i )
(v} | Find the discriminant of quadratic equation. 2% +3v 4+ T=0 _.g;i_'r.l*‘,;:fjj'a"..-..ulfd’.m, {iv)
2 43+ T= 0 '..,_‘

¥} | Bvaluae o 4 0™ -5 o' +o" S| M)
| (vi) | Write quadratic equation having l‘ool-: -1,=7 =1, ~ 7 -Habsbedomatinbigw | VD) :

( 11) Deline inverse variation, . Eab S (vii) |

= Ay =1 3 ¢ viii
B Find x in the m‘?}??l'u:n 3—‘: %:; "?\ :-;— ?x7_1 - % i Tx : -z L ut..,wf: D
! %) | Find penm proportional between 9piyt, »* 9p°", r' e ATdas | (%)
3 Attempt any six parts. 12=2x6 ‘_é‘dqum,{‘djl 340y
' (+ ! Whal is an impraper ta-aétinn';- T ks s d] @
() [re _3xi3 74, ...._lhcn find A and B. AAD _343 A B 4l (@)
; (e=1Mx+2) x4 42 (x=1)(xk2) x—=1 x+2

) e

(i) | If A={L4,7 9)and ¥=(2 4,5 9} then find YN ¥ X={l,4, 7 9}J.¢f {2,4,5, g}f (iii)
L ; A AT

Ox) [If L= {a,b cjand M= '3 4} l.hcn_ﬁnd 1wo bmary .M'Kl;:l' M=(3,4)w L={a,b, ﬂ}f (v)

’ | relation of 8 x L. ér’”hﬂajb!}&
{ 'f\;] Vind Xand P it XAV E4(a,8), (b, a), (c, @), (d, a)} 7 LrbY X | )
0 - . ] KxE=iaa) (b a) (e, @), (d a))

(40 | Define Bijective function. Sk e@d,’ (vi)
| (vii) | Define standard deviation, " r ﬁ‘;,’;u( A | (VD)
(viii) | Find range 12,6, 7, 3, 5, 10, 18, & [12, 6.7, 3,15, 10, 18, 5 _Lopomr | (Vi)

{(i») | Find arithmetic mean. 14800, 11500, 12400, 15000, 14500 - honhr | (%) |

14800, 1 1500, 12400, ISG{}O., l-_1500 ]

4. Altcmpt any gix parts. ' 12=2 486 : —Mﬁl‘lﬁfm{f—&’,l ‘/‘}Ej"'
| 4i) | Define coterminal angles. T o _é‘héi;;;’uwuﬂjf i
(8 | Convert -225" into radians. - e 225 | (D

" (i) | Find the distance travaled by a cyelist moving on 15 thf["l_nUKt. s ng'r—ﬁﬂr.ﬁv-{f (iii)

I ° jacirele of radius 15m, if he makes 3.5 i
ol TeVOUtioNS. — W Peuretih| |
@ ' Prove that S0+ cosd_ I+lan @ sin g+ ms—q=l vand Sgee| WY

cos A ___________gggﬁ _

(') | Define acute angle. Ly f’i,(g-é‘mb )
(vi) | What is meant by noo-collinear points? iy }y":—. WA g | V)
| (vii) | Define a cyelic quadeilateral. ' i | O
(_VITJ:J_  Define a triangle. e (v‘i}i_)_

'(1;_) Perimeter of a regular octagon is 24 cm. ~Erdu ;Jg—b_ﬁﬁ;m 24 J;,g;u}" PPt (ix)
\_...__| Find length of its side. R i

L 0 Y
: Product of cube roots ofupity is: | 15 |
4 -1 i 0 AL Ay L0 | j
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! SECTION-IT 00 _
NOTE: | Attempf :my three guesiiens but Qg“; 2lgl sy pfeldl | wsd
question No,9 is compulsory. 14 =8 x3 JrJ9/:’u"Vc}p
{'5(A) | Soive the equation '3 (x—l){.;’;-?.] (x4 8)(x+5)=19 =il | (S
(x=D(x+2)(x+8) (x+5)=19 -ES
(1) | Find A, if the roots of the equation 4 (Roots) vf.,_,h-': 10 =0 e S (._.‘)
X =hx+10=0 differ b}g -ér}"t&'-éd’h;ﬁJ/;‘ 3 |
6.(A) | Find the valne (I)f‘;_*’-’.»'_"'.. 2427 if y= 22 iging | &w LS Je ot oK ToF 2| 6
x=2p x-2= rrz 41z : 2y x+2s
the theorem of componende-dividendo, o zfé #“’a‘;ﬁ g
(B) 1 1 S pisn| &
fractions - —— e LS B2
Resolve into parl:a.l ction (.r-ri)(x ) D3]
! Sty =R
A |1fu={,234,5678910), *.° U={,234,5678910 /| (07
A4={1,3.57.9) ,8={2,3,5,7) lhe;n verily 7 aB={2,3,5 7« 42{1,3,5,7,9}
(AUBY = 4N2 i (AUBY = ANB SE35
£
{B) | Find standatd deviation. " _‘-'{,rr)h"‘_i[ Hlg e
16 38, 8,1%. 8. 9 13 A “ 9,13, 8 8 9 6.9, 18
[
8.(A) | Find the value of Erigunomc tric ratios at ¢ if : '1..' ;,a j;:f ;‘,f L BB o (= 3;1):;.')'.
point (-3, 4) is on the lemgnal s:dcf_ipf':é. —s—‘-{r""bfél-( (g
é—._— i
(B) | Circumnscribe a circle about & tfiangle ABC mﬂt BC . AB Lun Ln 5 S 2 K AARC
sides |Ah‘|—ﬁcm lB( |=-’¥r:m (@ A| -ﬁ:rﬁ B )’Ed.r’PJéi . ol
9. Prove that perpendicular from the centre of a Y L(J ,r, ,,,_;"__/_,‘_‘_,,h SE )
circle on a chord bisecty it. P Y
OR L
Trove thal any lwo angles in the same J B Lt Azl sy Lot
segment of a circle are equal. 15 9
' -t
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